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Quadratic Equations : Worksheet -13 

1. If one of the roots of  is twice the other, then  

           [ ] 

      a] 2   b] 1   c] 4   d] 7 

2. If  and  are the roots of the equation , then the  

    quadratic equation having the roots  and  is _ _ _ _ _, where  

    .          [ ] 

      a]     b]    

     c]     d]  

3. The roots of a pure quadratic equation exists only if _ _ _ _  [ ] 

      a]   b]  c]     d] Both (a) and (b) 

4. The equation  has     [ ] 

      a] No real root    b] One real root   

      c] Two equal roots            d] Infinite roots  

5. Given ,  are roots of the quadratic equation a  + b  + c = 0, then  

    the quadratic with 2  + ,  + 2  as its roots is  [ ] 

a] a  + 3ab  + (2b +ac) = 0 b] b  + 3ab  + (2c +ab) = 0 

c] c  + 3ac  + (2b +bc) = 0 d] None of these 

6. If the roots of the quadratic equation (a – b)  + (b – c)  + (c – a) = 0  

    are equal, then        [ ] 

     a] 2a = b + c     b] 2b = a + c  

     c] 2c = a + b     d] None of these  

 

 

( ) 0212 =+++ kxkx =
+

k

k 12

  01892 =++ xx

 +  −

( ) 

02762 =−+ xx 02792 =+− xx

0792 =−− xx 02762 =++ xx

0,0  ca 0,0  ac 0,0  ca

xx
x

−
+=

−
+

3

5
3

3

5

  x 2 x

   

2 x 2 x 2 2 x 2 x 2

2 x 2 x 2

x 2 x



   47 G10 CH 4 WS 13 Quadratic Equations 
 

  
 

  

Grade - 10 www.thirdapple.in 2 

7. If the roots of the equations  are  then a and b are  

     respectively         [ ] 

a]    b] 1, 1  c]   d]  

8. If  are roots of the equation , then  = [ ] 

a]    b]   c]   d]  

9. Consider the equation , which of the  

    following are true about the roots of the given quadratic equation? 

           [ ] 

(i) Both roots real.   

(ii) If a + c = b, then both roots are real and equal. 

(iii) Roots are imaginary with real part equals to 0. 

a] Only (i)   b] Only (ii)  c] (i) & (ii)  d] Only (iii)  

10. If  and  have a common factor then [ ] 

a]     b]   

c]     d]  
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